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a. Referring to the diagram above, Explain A, B, C, and D.[7 points]

b. Show in which market firms give payments to households as an exchange for the
use of their productive resources. Explain your answer briefly. [4 points]

c. Show in which market households give payments to firms as an exchange for the
purchase of goods and services produced by firms. [4 points]

Problem 3 (12 Points)

Since climate has a significant impact on the productivity of agricultural lands, the
price of agricultural lands in the areas of more conducive climate is more expensive
than those of less conducive one. Over time people, however, has been finding
various technological advancements that continuously raise land productivity,
regardless of its location. Despite such phenomenon, the price of agricultural lands,
unlike other lands, falls

a. Explain the concept of elasticity. [3 points]
b. What are the determinants of the price elasticity of demand? Explain. [3 points]

c. Using the elasticity concept, explain why the price of agricultural lands has a
negative correlation with land productivity. [3 points]

d. Explain why, over time the price of lands has a negative correlation with land
productivity. [3 points]

Problem 4 (16 Points) '

a. Explain the concept of the law of di
support your explanation.[4 points]
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constraint and explain how it changes. [4 points]
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d. Given the new budget constraint of Rp 2.000.000, if there is a decrease in the
price of gasoline to Rp. 10.000 per litter, calculate the amount of cakes and
gasoline that Joe will be able to purchase each month. Explain and draw new
consumer’s equilibrium! (hints : use indifference curve) [4 points]



Problem5 (10 Points)

According to news, the international price of coffee has increased, despite the fact that
there is no change in the quantity sold. Asked by their lecturer to explain such
phenomenon, 5 FEB Ul students have come to different interpretations.

Rara : The demand has increased. The supply is, however, perfectly inelastic.
Andi : The demand has increased and it is perfectly inelastic.
Dini : The demand has increased at the same time with the decrease in the supply.

Teguh : The supply has decreased. The demand is, however, unit elastic.

Wawan: The supply has decreased. The de owever, perfectly inelastic.

Whom do you think has the right answer?
argument. i
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Problem6 (12 Points)

Jason is considering building his own on-lin
Jason needs to install a set of multimedia its | ction. A
computer with the appropriate specs is estim . Jason also
estimates that the monthly cost of subscribi Rp 1 million.
In addition, he also estimates that he needs each month for
electricity charges. Jason also considers to r IS own kiosk that he
formerly leases it and, thus, gives him an ‘ann me of Rp 10 million.
Since this is a new business venture that need son thinks of quitting
from his current job that pays him a monthly salary of Rp 2 lon. Jason estimates
that the new business venture will enable him to sell 2,0 is merchandise
per month.with a price of Rp 10 thousand per piece.

a. Calcﬁlate Jason’s accounting profit and economic pro
difference between the two concepts. [6 points]
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Problem 7 (20 Points)

Bob has just recently opened his own cake shop. Suppose that he utilizes 2 inputs, i.e.
labor and oven. The table below shows the number of workers and cake production in
a week.
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If fixed cost is Rp 50 thousand, fill in the blanks under each corresponding

column above. [8 points]

Draw average variable cost curve, average fixed cost curve, average total cost
curve, and marginal cost curve in one graph. Explain the relationships among

those cost curves. [6 points]



Problem 8 (20 Points)

The demand and supply schedules for potato chips are given as follows:

PRICE QUANTITY DEMANDED QUANTITY SUPPLIED
(RUPIAH PER BAG) (MILLIONS OF BAGS/WEEK) (MILLIONS OF BAGS/WEEK)
5000 170 130
6000 160 140
7000 15 150
8000 14 160
9000 13 170
i
10000 AT 12 180
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price of potato chips will cause the demand potato chips to fall and,
therefore, will cause its price to fall back to its original level. [3 points]

If both the demand for and the supply of potato chips increase at the same
time, the price of potato chips will surely rise. [3 points]
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